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[E3EY nam | Z2E |SBLT—R9UZy) SR SR 19 18| BREZHEFTAREARR 1.78 4R
EmEp | )Om | 2EFT | LEARRRER &R &R 19 19 [k mATRERF ARERR 2.42 SRR
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AR J\iEAm Wbt |EREAERRAEEBERT 2 AJRIR 8 14HA 8 14HA 34 34 | FEERFEARR 1 & 4EHA
AR J\ETH it | EEEAER RSB ERERT AJRIR 12MHR 12MEHR 34 34 | EEREATA 1 0.18 1814EHA
AR J\iEAm Wbt |EREEAERRAEEBERT 1 CRtR 8 14HA 8 14HA 40 40| BEERRARTA 1 & 4EHA
AR J\ETH it | EEEAER RSB ERERT CImtR 12MHR 12MEHR 40 40 |FEEREABTA 1 =kt
AR J\iEAm Wbt |EREAERRAEEBERT 1 DJRIR 8 14HA 8 14HA 38 38| EERFEARTR 1 0.79 & 4HA
HEB J\ETH it | EEEAER RSB ERERT DJmtR 12MHR 12MEHR 58 48 |FEEREABTA 1 1814EHA
AR J\iEAm Wbt | EFRSEAEINLSRERE At SUEHR [EI1EHA C 60 60 |Hhigk—Ag ARzl 3 0.02 0.37 [El1EHA
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RE | =W | Ak | EREAAEBRRRISHPRESH 3AJFIR S S 58 58| 2 MHI—A¥ AR 1 | 0.03 1.02 0.33 0.02 8.79 35.3 2
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SVeE |aVEm | bt RV ETRERES Y- SREAESCU EESME | SESMH 3 3|mEmriy i AEREEN | 0.67 1.00 0.67 4.00 2.00 31.00 38.1 |SESMH
SWeE |EEm | Al [RURETRERTY Y- 2PEEIRIR 2 EERME 51 46 |2ER—REABRR 1 | 1.54 0.59 0.52 7.52 1.87 0.59 0.61 9.22 36.7 | mESMH
BVEE |SVeEh | ik ([SVEHRERES Y- 3RELRIR S S 54 37|/NEAREREERR 2| 0.19 0.03 0.05 0.32 0.03 20.00 | 21.7 SR
SVRFE [qVEdm | b |RVREFTRERT>S- 3PEERR SR =ESEH 47 33 |2 A BT 1 0.03 0.03 0.79 0.06 25.67 55.6 |=EEI4H
SWeE |2VEm | Ml |2VREMRERES Y- 4RI LIRIR SUEER SUEER 47 47 | 2R — AR A BERL 1 0.47 0.55 0.68 0.98 6.62 33.9 SEHA
SWeE |EeEm | Al [RURETRERTY - ARETIRIR 2 E1EHA C 43 43| 2R ABERY 1 0.02 0.28 0.05 0.02 1.19 0.79 0.02 9.42 24.5 gLt
SVeE |aVEm | bt |RVETRERES Y- SPEALRAR SU4EHR [EI1EHA C 44 44 | 2R — AR AT 1 0.02 0.09 0.27 0.70 6.20 20.5 [El1EHA
SVEE |2VEm | AR |RUVEEmRERES Y- SRR B8R B8R 47 A7 |BHEERINE V753 RHRARERS 1 0.02 [El{EHA
SVEE |2VeET | bt |[HESBACEAS T T REEBMERES Y- | ANEELBENICURIR SUEHR [EI1EHA C 20 20 |Hhigk—Ag ARt 1 0.15 5.90 1.15 11.0 [El1EHA
SVEE |2VREM | Rl |HRBIEASTTRERBRER T S— | ANEBARSRIR 12MEHR 12M4EHR 48 48 TR BIRRA TR 1 814%HA
SVeE | 2VEd | bt |[HSBACEAS T T REEEMRES Y- | AREESPERIR 8 4HA 12MER 48 48| IR BRI A TR 1 SRR
aWeE |&veEm | kR |1EERBE ARSI 2 BERME 34 34| SR —MABA 4 | 0.06 0.03 0.03 0.21 0.97 0.18 0.03 0.97 24.8 | EESM
SWeE |2VEm | Rl |ERERR SPERIR SUMEER [Ekek-t c 47 47 | 2R — AR A TR 4 0.74 0.13 0.47 0.36 16.4 [El1EHA
aWeE |&veEm | Wk |1EERBE 6B 2 BERME 47 47 |2 AR 4 | 0.43 0.28 0.04 0.04 0.62 1.04 1.09 0.28 0.30 0.47 27.1 | EESM
SWeE |2VEm | Rl |ERER 7SR SUEER [Ekek-t c 47 46 | SRR AR A TR 4 1.09 0.61 1.43 0.63 27.4 [El1EHA
SVEE |2VkEm | Rl |1ERERR 3PEIRIR B8R B8R 51 51 | BRI V7-yaAmRARRR 3 0.02 EHEHA
BWeE |SVEET | Bl |EREAERRATOERASF M- |ICU SESMY | SE2MEH 8 8|WEETLREEEN3 | 4.63 2.25 1.75 0.13 0.25 0.63 37.63 | 5.50 2.25 33.25 BESMH
SVeE |2VeET | BT | EREALEBREFOERAEST M- |4ATRIR SEQMH | SEMH 50 50| MEHA— AR ABTA 1 1.38 0.68 0.14 0.12 5.70 2.30 0.68 0.02 0.08 7.36 45.5 | SEIMEH
AVEE |SVET | AR | ERRAERRRTORRASF M- |6BIRR EER [E1EHA A 49 49| 2MEER—MEARTRI L | 0.12 0.67 0.43 0.08 8.73 20.5 EEHA
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M5ESRITRNIER

BESMEH- - SHRORDERIRDIR 1] XBELELIERZER

SR BHERO R DIER (X DHR 2 ] XEEZmLITREZEE

. ; A B [ D E F G H I J K L M N 0 P S
KedRes X ) EAGRITF0 |20 [ | ﬂx p BAR | e | s el (P G e - (m18)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%
SOEE |aVVEET | R |EREAHEREAEOERKES ML~ |4ABHCURIR SEQMH | SESMH 4 O [MI719 AR E R IR 1 BERMEH
SWEE |2VEM | AR |EREAUERRAROERAESF M- |SBHCURIR EESMHE | SESMH 4 4| MIPIZy AR IR 1 0.25 0.25 10.25 0.50 34.00 EESME
SOEE |aVVEET | R |EREAHERRAEOERKEST ML~ |6BHCURIR SEQMH | SESMH 4 4| MIPLZY AR E R IR 1 0.50 4.00 2.00 41.00 SESMER
SUVEE | 2VeEM | AR | EREAREBRSEOERRESFMILVI-  |SARIR S4EA SU4EHR 51 51|20 —AR AR 1 0.92 0.06 0.22 1.73 0.06 10.02 44.3 SI4EHR
AVE |SVEEH | AR |EREAERRAVOERAST M- |6AER 2 SRR 51 50| 2R — AR ABA) 1 0.04 0.02 0.26 0.84 0.04 1.74 7.68 25.6 2
AVEE |SVET | R | ERRAERRSRORRASF M- |4ACTHER F={Ea S 22 8| BT FIRRA R 2 1.50 0.13 1.25 SR
SVeE |2VeET | BT | EREALEBREFOERAENT M- |4BRIR R [EHERA c 47 19| 2 MEEA—ARABTAY 1 3.68 E17 1]
SVEE | 2VeEM | ARl | EREAREBRSEOERRESFMILYI-  |SBRIR S4EA [EI1EHA C 47 47 | SRR — AR AR 1 0.11 0.04 0.02 0.38 0.47 9.09 19.4 [El{EHA
EOeF |2VeET | bt ([BERRREAILEVEE B#R SR B8R c 28 28| Htg— A ABTAY 3 1.21 0.04 2.75 EHEHA
SVeE | auEm | Wbt |2VeER TR SRR A =ESER EESMH 16 16| REFR AR 1 0.94 0.19 0.06 0.19 1.25 2.88 3.44 3.19 0.19 0.13 149.38 SESME
SWeE |EVeEm | Al [RURERTFRR HBRIEB BERME SRR B 20 20| S MERA— AR ARRAY L | 0.15 0.50 0.55 0.20 | 45.45 | 56.0 SRR
SVeE |auEm | Wbt |2VeER TR HCU EESUN | SEIEE 8 8 | M7 1y PABREAEIRE 1 6.13 2.00 1.75 0.13 22.00 6.88 2.00 2.63 EESMR
SWeE |EVeEm | Al [RURERTFRR ICU BESME | BESEH 8 8|wEEamEEEN2 | 4.75 0.25 1.38 1.75 3.13 | 30.63 | 7.38 0.25 50.13 BERMER
SVeE |avEm | bt |2VeER TR MFICU EESUH | SEI4EE 9 9 [wamemmesmsmssnn @ume 0.11 2.00 24.33 EESMR
SVE |aVEd | bt |2VRFRTFRET NICU BESMH | SESMH 3 3|an e AR a2 7.67 SESER
SV |aVEm | ke |2VFERTFR GCU EESMH SUER B 6 6| SEHA— AR AR 1 0.33 SR
SVEE |2VEm | Rl |2VRERTFRE CCuU EESMH EESMH 14 14| IR AR 1 3.43 0.29 0.79 0.29 0.93 5.79 24.14 6.43 0.29 0.07 31.36 EESME
SV |2VEm | ke |2VRFERTFR SFETEIRIR =ESER SU4EHR B 41 41 |2 MR — A A R 1 0.12 0.05 0.56 2.73 0.07 3.46 42.9 SEHA
SWeE |EeEm | Al [RURERTFRR OBSERIFIR BESMH | BESEH 41 41| 20— AR L | 0.56 0.51 0.39 3.66 1.78 0.51 0.02 1.02 5.68 44.7 | SERHH
SVeE |avrEm | Wbt |2VeER TR IPEFESRIR =ESER =ESER 40 40 |2 MR — M A BT 1 0.60 0.50 0.45 2.05 2.08 0.50 0.08 0.78 5.68 41.9 |=SE24H
SWeE |EVeEm | @l [RURERTFRR 10REEAIR EERME 2 B 41 20| 2R — A AR 1 0.05 0.05 0.10 | 14.15 | 38.7 S
SV |aVEm | ke |2VFERTFR 11BEFERAR =EESMH SUER B 41 41 | 2R — AR ABERL 1 1.93 1.05 2.15 0.10 2.59 49.3 SEHA
SWeE |EVeEm | Al [RURERTFRR 13RETERIR BESME | BESEH 41 41 |2HER—REABRR L | 1.56 0.20 1.15 4.22 1.90 0.20 1.12 2.76 38.5 |=EMH
SVeE | avEm | Wbt |2V ER TR 14BESRIRIR =ESER =ESER 30 30 |2 MEEA— AR A BT 1 1.57 0.10 0.13 0.03 4.53 2.07 0.07 0.63 2.53 34.1 |SE24H
SWeE |EeEm | Al [RURERTFRR Scu EERME 2 B 6 6|2 — AR 1 | 0.17 4.67 0.50 0.17 40.1 SRR
SV |aVEm | ke |2VFERTFR 14BETEIRIR EESMH ENEVEYNZS 30 O| M — AR ABTAY 1 ANBA/ARBR
SWeE |EVeEm | @l [RURERTFRR SRETERIR 2 SRR 38 38|2MH— AR 1 | 0.45 0.26 0.03 0.13 1.95 0.26 4.47 52.6 SRR
SVeE | aVEd | Wbt |2VeER TR 10BEFEIRAR SU4EHR SU4EHR 41 41 |2 MR — A AR 1 0.15 0.15 0.07 3.32 0.17 0.15 0.15 2.41 3.46 39.0 2R
SWeE |EeEm | Al [RURERTFRR 11REERAIR 2 EESME 40 40|2HERA—AEABRR 1 | 2.05 0.03 1.03 2.15 0.03 0.20 2.63 54.5 | EE2MH
SVeE |aVEm | Wbt |2VeER TR 1 2PESRIRAR SU4EHR SU4EHR 40 40 |2 MR — M AR 1 0.78 0.13 0.35 0.70 3.40 0.13 0.33 2.98 34.4 SRR
SWeE |EeEm | Al [RURERTFRR 12[EPERIR 2 SRR 39 39|2MH— AR 1 | 0.62 0.23 0.10 4.31 2.95 0.23 0.03 1.74 3.59 45.0 SRR
SV |aVEm | ke |2VFERTFR 1 3BEERIRAR SUMEER SUMEER 39 39| 2R —RE A BT 1 0.03 0.05 0.05 0.72 0.15 6.08 1.59 28.4 SEHA
SVFE |aVEdm | b |EREEEEAFESNYIS O TENEIRER ElEHA 12MEHR 40 26 |rmatngs 73 1 AREAR 19.35 1214HA
SWeE |2VEm | Rl |EREEERAMMERAYIC Ot HEDTRIR [Ekek-t =gt 10 10 |EEsEiERs 759 1 ARERY SRR
SVE |2VEdm | b | EREAHEERRSVEFERRRR suc BESMH | SESMH 3 3|miEmris i AREREEN | 1.33 0.67 4.00 1.33 46.67 EESMH
SWeE |2VkEm | Rl |EREAHEERRZVEEWRE — AR SUMEER [Ekek-t c 27 27 | — A A A 1 0.19 0.15 0.44 2.78 [El1EHA
SVWEE |2VEm | Rl | EEEAMEERSZVESHRIT EI{EHRIR B8R B8R 60 60 | AN 7-52 AR 1 EHEHA
SVEE |EEl | Rl ek AnEERREEEREOCEER L 5— | NAF S S 54 53| 2MHI—ME AR 2 | 0.57 0.25 0.08 0.08 1.19 1.17 0.25 0.15 7.43 36.5 2R
EVRE |2VRFER | PR [mTios MmO LR ER > - INGF SUEER ElEHA C 51 41| 2R — AR ABTAY 2 0.02 6.54 23.6 [El{EHA
SVEE |EEH | Rl ek AnEERREEEREO B ER L 5— | NSF E1EHA [E1EHA 58 58|tz tEs PR AR 1 0.57 8.72 5.8 EE=L
BVEE |EeEh | iR [SLEREmE ABEIRAR 2 E1EHA C 72 47| 2MEEA— AR ARRRL 4 0.02 0.66 0.15 0.06 2.00 20.9 EiEHA
SV |2VEm | ke |2VFER R SBETERAR SUEER SUEER 32 28 | 2R A BT 4 1.18 0.25 0.11 4.04 1.57 0.25 1.43 EF SEHA
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M5ESRITRNIER

BESMEH- - SHRORDERIRDIR 1] XBELELIERZER

SR BHERO R DIER (X DHR 2 ] XEEZmLITREZEE

. ; A B [ D E F G H I J K L M N 0 P s
heaREs X %) EAR TG | T g Fl | © ﬁﬂ ma - |ame |swme =5 sz | BB o |oead (m18)
I1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%
SVEE |2VEm | Rl |2V ERR R 3pERIR B8R B8R 55 40 | EHERINE V7-yaRARABER 3 EEHA
SV |aVEm | bt |2VFRRRb SPEERRER =gt =gt 40 38 |ERRALTAY 1 1.92 0.03 SRR
SVeE |dLeEd | Ak |(BERINEERTSS- 5B (GCU) SEQMH | SESMLH 42 42 [ Ra e E AR E R 0.93 BERMEH
SVeE |2urEh | Rk |BERERVNEERES Y- 4B (HCU1) EESMH EESMH 13 13/NEARREREEMN 1| 0.92 0.08 0.23 4.15 0.92 0.08 18.54 EES4R
SVE |2VEFEd| bk |(BERUNEEERTS- 5A (NICU) BESMH | SESMH 30 30 prerpEsmanzEEn 1| 0.03 0.23 10.60 0.03 0.17 11.80 EESME
SVeE |2urEm | Rk |BERERVNEERES Y- 4A (PICU) EESMH BESMHR 14 14|nRrseshamEEEn|  4.00 0.14 6.21 2.50 24.50 4.07 15.43 EESMH
BVEE [dveEh | ik |[BEEVNRERESS- 4B (HCU2) BESME | BESEH 7 7/NRAREEEER 1| 8.57 0.86 0.57 0.14 1.00 9.29 0.86 53.71 BERMER
SVeE |2vrEh | Rk |BERERVNEERES Y- 9A SUEHR EESMH 28 28|/NERAREREERER 1| 2.04 0.29 2.39 2.04 0.29 0.11 0.75 EES4R
BVEE [VeEh | ik |[BEEVNRERESS- 9B SRR EERME 28 28|/NBARREREEM 1| 2.14 0.04 0.57 2.21 0.04 0.04 0.54 BERMER
SWeE |aVkEm | Rl |BERINEERES Y- 10A SUEHR EESMH 28 28|/NEBABREREEER 1 0.50 0.04 0.14 3.64 EES4R
BVEE |dLeEh | ik |[BEEVNRERESS- 10B SRR BERME 28 28|/ NRAREREER 1| 0.07 0.18 1.86 0.07 0.39 0.18 BERMER
SVeE |auVrEd | Rkt NEERT>H— 11A SUEHR EESMH 28 27|/NBAREEE®ER 1| 0.37 0.07 1.37 0.41 0.07 0.04 1.33 EES4R
SVEE [EORES | Bl [BEREENRERES - 11B S BERME 28 28|/NBABREREIEA 1 0.18 0.04 0.04 4.07 0.04 EESMH
SWeE |2VkEm | Rl |[BERINEERES Y- 12A SUEER EESEER 36 36/NEARREZREEN 1| 1.00 1.08 1.00 0.03 0.47 EESME
SVE |2VFEd| b |(BERUNEEERTS- 5B (—#%) SR SR 6 6| 2R — AR AR 1 4R
SWeE | aVEm | 2EAT | EREAREER SUEER [Ekek-t c 17 17 | BREZHEFR A BREARL 0.35 [El{EHA
SWEE | 2VeEm | 2ERRT | NEEVUZY) SUEHR SUEHR 15 15| BRZEFAAREARR| 0.67 2.33 et
SVE |aVEm | 2EF RBER SUMER SUMEER 8 8| BRZEFT AR AR 0.50 SR
SVFE |dVeEm | 2EFT IERSRIER SR ElEHA c 19 19| BRZEMARREAR  0.11 0.26 EHEHA
SVE |2VeEm | 2B | EEREANUDRNUDEEERAR SUEER SUMER 19 14| BRZEFAREARR| 0.86 0.21 0.64 1.64 0.21 SEHA
SVEE |2VEm | 2EF | EEEAMEBERFHLT(RIUZY) SUEHR SUEHR 14 14| BERZEFAAREARR| 0.07 0.29 4R
SWeE |aVEm | 2T |SIRERARIIZY) SUEER SUMEER 8 8| BRZEATABEAR 0.63 SR
SVE |2VEd | 2B | EREAKREMER SR SR 10 10| BRZEFIAIREAR 1.40 4R
EVE |dVeEm | 2B |LOS SRR B AR o (Sagsan) | ZRBA/{RER 4 0 [prssm crunsm coARRoR L ARBA/ARPR
SVWEE |2VEm | B2ERM | KERRIVUZY) SUEHR ARER/ARER 3 2| BRZEFTABTEAR ABA/ARER
SWeE | BVEm | 2T |HELEBERAIPRIZUZY) SUEER SUMEER 2 2| BRZEFAREARN  1.00 4.00 SR
SVE |2VEd | 2B |BREMMIBIERIER SR ARER/ARER 19 10| BREZEFTABTEAR] TRER/ARER
SWeE | BVEm | BT |2VREDEOZHRIVIYI SUEER SUMEER 19 10 | BEREZEFABTEARR 4.40 SEHA
SVE |2VEd | 2B |EREAHEEBERTYNIAAZIIZY) SUEER SUEHR 3 3| ERZEFABEAR 4R
SVeE | aVeE | 2P |2VEEIEIEUZY) SUEER SUEER 18 18| BRZEFIAREARR| 1.39 0.89 6.89 0.89 SEHA
SVEE |2VEm | 2B | ABERARER SUEHR SUEHR 19 19 | BRZEFABTEARL 0.05 1.74 4R
SVE |dveEm | B2EFT |RIULT1—R9UZy) [Ekek-t ENEVEYNZS 1 0| tnunsmam rormpomisL ANBA/ARBR
SVEE |2VEm | 2EA | EREEABHER SUEHR SUEER 14 14 | BRZEFABTEARL 0.64 4R
SWeE | aVeEm | 2P |RREROALIPIIYUZYS SUEER SUMEER 19 18| BREEPAAITEAR 5.89 SR
SVFE |dVEm | 2B |RBRMER SR ARER/ARER 1 1| BRZEFT A BTEAR TER/ARER
SWeE |aVEm | 2T |EUHVEREL- uEY SUEER SUEER 2 2| BRZEMAREARR|  1.00 31.50 0.50 SR
SVWE |2VEm | B2EPT |0-XN9ZT19UZy) SUEHR SUEER 19 18| BREZHEFTAREARR 0.06 0.44 4R
SWeE | aVEm | 2EAT | EREAERER ohieh (SamEE) | ZRBA/AKRER 0 O|BRREZEFT AR AR RBR/IRER
B | FxE | Bk (|EREALEEREFRRR 2ATRIR 2 2 32 32|2MH—MARR 1 | 1.09 0.28 0.06 0.09 1.84 1.25 0.28 0.28 | 11.47 | 411 S
By | fRsRAT e  |EREAHEERRFARRR 2BJRIR SUEER SUMER 37 37| 2R A BT 1 1.27 1.70 1.32 7.05 45.7 SEHA
B | FxRE] whi  |EREAMEHERSFERKR 3FRIR SR ElEHA c 42 42 | 2R —AR A RERL 1 0.60 6.67 14.8 EHEHA
By | fFRsREAT whe  |EREAHEERRFARRR 2CHRIR =gt =gt 40 40 |FRERR AR 1 0.08 0.03 SRR
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N ; A B [¢ D E F G H I J K L M N 0 P s
BESRES X %) E el it Fifi . Fify pe EZ ﬁﬂ EE BHIEE  |HEE it A2 (B8 |pis |eeae (E48)
1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%
Bk | FRE | Ak |HEmE [EEEAHEAERIR01 [EHEHR [E1{EHA 57 54 | @Hasmne vi-samAbe 2 0.28 EEHA
By | fFRsREAT wht  |EFRE A EIBRORFRP IR 2BERR =gt 12MER 31 27 |RERAR AT 1 SRR
B | FRE] wh  |EREAEHE LSRR IR 3R 12 14HA 1€ 14HR 35 31| FEERRARA 1 12 14HA
By | fRsRAT wht  |[BERIZINATIS- HCU EESME | SESMH 24 15|y AREREER 1 | 10.73 5.33 6.53 0.13 13.47 | 10.93 5.33 0.07 EESME
B | FxE whe  (BERISAESS— 4 FERIR SERNEH SR B 31 28|8PIAE 73 L ARREAR|  0.32 0.32 3.54 0.64 0.32 2.11 0.04 36.6 SRR
By | fRsRAT wht  [BERIINATIS- 5 FESRRIR EESME | SESMH 43 40| EP9Rkt 73t 1 ABEAR | 0.15 0.53 0.65 1.13 0.13 3.38 33.5 |=EESMHH
B | FxE whe  (BERISAESS— 5 BETERAR SERNEH SR B 43 40|®PImIE 759 1 ABREAR | 0.05 6.28 0.23 0.05 0.05 37.2 4R
B fREH] wht  |[BERIZINATIS- 6 PEERIRAR =ESER SU4EHR B 43 43| ErImlE 738 1 ABeEAH | 0.28 0.16 1.70 0.40 0.37 0.88 27.0 SR
B | FxE bt |BERINATSI— 6 PETERAR SERNEH SR B 43 41|®PIRIE 759 1 ABREAR | 0.02 2.61 0.20 0.12 2.59 36.4 4R
BR | B | &k FERIHAESS— 7 BESRIRIR SERMH 2 B 43 40 |ErImk: 788 L ABREAN| 0.28 0.20 1.75 0.53 0.28 1.65 0.03 35.6 2R
B | FxE Gl ES vy VR Z A 7 BEFERAR SEQMH | SESMH 43 40 |HPImRt 733 1L ABeEAR|  0.85 0.65 2.80 1.05 0.33 1.70 44.7 | SERMR
B | FRE] wht  |[BERIINATIS- 8 PEERIRAR =EESMH SUMEER B 43 37 | Skt 7 33 1 ABREAR 1.46 0.03 0.76 3.22 25.8 SR
B | FxE whe  (BERISAESS— 8 FETERAR EESEHR ElEHA A 43 30|BPUARE 73 L ABREAR 19.6 EEHA
By | fRsRAT wht  |[BERIZINATIE- 9 PEERIRAR =EESMH SUMEER B 25 25| SRR 7 3 1 ABREAR 10.96 35.7 SEHA
B | FxE whe  (BERISAESS— 9 BEFERAR SERNEH SR B 43 39|8PIAkE 73 L ARREAR|  0.59 0.15 2.26 0.72 0.13 2.56 0.03 29.7 SRR
By | fRsRAT wht  [BERIINATIS- BT 7IRIR SUMEER SUEER 36 34 BT TIRRABER 2 0.12 0.03 SR
B3R LEM wh  |EREAMEHERS LEPIRBERIR  |4ARR BESMH | SESMH 48 48| 2R — AR ARTERL 1 0.73 0.06 0.04 0.67 1.63 7.23 33.2 |EESEH
B tEM e  |EREAHEERR LRPREER 6AHCU EESMHE | SESMH 4 4| MOPIZYMATRIEEAREIZR 1 0.25 8.75 0.25 2.50 EESME
B3R LEM wh  |EREAMEHERS LRGSR | ICU_CCURRER BESMH | SESMH 4 4| M71zy A BRERREIER 1 5.25 1.75 SESMER
BR | LEH | Ak |[EREAACEERR LRRRESHE |ICU. CCURIR SEZME | SE2MEH 22 22| BEkphREEEN | 4.14 0.41 0.27 0.18 0.86 0.27 0.73 3.45 | 14.45 | 7.18 0.41 33.91 BERME
B3R LEM wh  |EREAMEHERS ERERRKBE®iE  |[4AHCU BESMH | SESMH 4 4| M71zy A BRERREIER 1 7.25 16.50 SESMR
B tEM whe  |EREAHEERR LRPRIEER 1BRIR =EESMH SUMEER B 16 16 |2 — AR ABTAY 1 0.38 0.50 0.06 105.56 | 67.8 SEHA
B3R LEM it | EEEAHEERR FREPREESHIT HCURR BESMH | SESMH 16 16| MI71Ty AR EFFEIRR 1 2.88 1.94 0.88 0.06 0.13 3.25 3.44 1.94 67.88 EESME
B tEM whe  |EREAHEERR LRPRIEER SBEERMRAR SUEER SUEER 23 23| SRR A BT 1 0.78 0.52 1.96 0.52 4.39 58.9 SEHA
B3R LEM Wt | EEEAMEERS FEPREEHIT |6ARIE SR B8R c 48 48 |2 MR — AR ABTAY 1 0.02 0.10 0.15 0.08 2.00 13.8 EHERA
B LEM whe |EREAHEERR LRPRIEER 7AJRIR SUEER SUMEER 52 52| 2 MEEA— A AR 1 1.38 0.12 0.19 1.73 2.00 0.12 0.06 0.10 8.12 39.6 SEHA
Bo | LEW | Ak |[EREAHEERS FRPREESHE |7BRE SRR 2 50 S0|2MHA—AR AR L | 1.12 0.16 0.02 1.36 1.82 0.16 0.40 5.68 42.1 =l
B tEM wht  |EREAHEERR LRPREER BATRIR Ed-t] EESMH 52 52 |2 MEHA— A AR 1 0.21 0.40 2.73 2.10 0.13 0.19 6.19 36.4 | SESMH
Bo | LEW | Ak |[EREAHEERS FRPREESHKE  (8BRE SRR BERMEH 49 49| 2HERA—REABRR L | 1.06 0.78 0.08 9.02 1.45 0.78 0.06 0.39 2.92 46.7 |=ERMHH
B tEM whe |EREAHEERR LRPRIEER IATRIR SUEER Gk k-t c 48 48| 2R — AR ARTAL 1 0.10 0.23 4.23 13.9 [El1EHA
B3R LEM whi  |[EREAMEHERS LEARKEHIT  |9BRER SR EESEHR 51 51|24 —AE AT 1 1.67 0.33 0.53 0.02 1.73 2.82 0.33 0.12 4.27 33.1 |EESEH
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NNt | E2LET BEENKF R AEEOBE SRS S B 40 40 [memimm—mmnrsammss | 0.40 5.78 3.53 11.6 SRR
NgtbdE | B2 LET BEENAZREGE AEE10RE SEREH SR B 52 52 [mrminn—mmn7 s anmsn | 1,44 0.13 0.25 1.10 2.19 0.13 0.85 1.81 28.3 4R
NNt | E2LET BEENKFRR AEE11BE SRS [E1HEHA A 52 52 |wemimn—mmmr s ammsn | 0.44 1.46 0.94 0.58 0.65 23.9 [EEHA
Ngtb{E | B2 LET BEENAFREE FRE20E SEREH SR B 25 25 |wmmimn—amu i anasn | 0,08 0.36 0.32 39.8 4R
NNt | E20LET BEENKFRT FIREARS BESME | SESMEH 42 41 NEARERSEN 1| 0.73 0.29 0.76 0.73 0.29 1.20 EE2MEE
Ngitb{E | B2 LET BEENAZREE FARESME SEREH ElEHA A 47 47 |msemn—mmn s owsss [ 0,02 0.96 0.19 0.34 2.87 22.1 E7 =1
NIt | E2LET BEENKFRR FIREERY BESME | SESMEH 43 43 |memimm—mmnrs ks 0.07 1.05 0.84 0.37 3.30 22.1 | EE2M4H
NIttt | ESLE] BEERNKFRRT [ BRI Lt B 28 28 st 1 A 1.86 1.00 1.54 2.39 1.00 0.04 3.64 39.2 SRR
NNt | E2LET BEENKFRT FIRESHY SESERA S B 47 47 |rwmmm-—mmmr s sk | 0,02 0.06 0.47 1.53 0.51 8.74 35.6 2R
NgtbdE | B2 LET BEENAFREE [Ezjel SEREH SR B 45 45 iR 3 1 AR 0.07 0.04 10.51 22.7 4R
NNt | E2LET BEENKF R FIRE10R SRR S B 42 42 |memimr—mnr s Ak 0.17 0.07 0.26 4.86 0.60 31.3 2R
Ngtb{E | B2 LET BEENAZREE FIEE11pE SEREH SR B 42 42 iR 3 1 AR 2.62 0.17 1.17 5.50 31.0 4R
N | EELET HEERKFR ICU =EESMH =ESER 6 6 | fFESEHEEEEER3 | 2.33 0.33 0.17 12.17 2.33 0.33 17.33 EESMR
NgtbdE | B2 LET BEENAFREE FaEESRE SERNEH SR B 34 32|mmmmmn—mmnnammsn | 0,13 0.69 1.28 2.75 19.4 SRR
NIt | E20LET BEENKFRT REEARE SRR [E1HEHA A 35 35 [wemmmn—mmnry msen | 0.03 0.03 0.14 0.34 1.14 0.03 0.03 5.69 26.3 [EHEHA
NIttt | ESLE] BEERNKFRR FIRE3MENICU BESME | SEEH 18 18|eemmmiesransmen e | 0.11 12.22 | 0.28 3.67 BE2E
NIt | E2LET BEENKFRR FIRE3MEGCU SESME | SESMH 18 12| mEEE AREREEN 0.50 0.08 EESMHE
NIttt | ESLE] BEERKFRR FIEE2MEMFICU | BESMH | BERHE 6 6 |sanmmizssmsnen sawo | 0.17 2.67 4.50 BESMER
NNt | E2LET BEERAFRG REE4AMEHCU BESME | SESMH 8 81 AREREEN 1 | 2,88 0.25 12.50 | 3.50 0.25 | 22.88 B SR
Nt | EEILET BEERKFRR 1E)L 5B hish (S | ARB/ARER 14 14 |swremermp s 751 1 AREAR 9.29 25.0 | ABA/HRER
)BT | EELET BEERKERE 2E)L 3B g (Seme) | RBA/IKRER 48 27 |ssenstensi s 58 1 b 4.15 19.4 | AEA/IRER
Ngtb{E | B2 LET BEENAZREE 28 4B xR (Smi) | RB/RER 41 O |t 7 31 1 ApRAH TER/ARER
Nt | E2LET BEENKFRT 28IV 5 iR (SEmE) | ANBA/AARBR 17 O |roseishermbi—sme7 31 L AREAR TRBA/ARBR
NidgEEdE | S ILET BEERKFRR FEEEGRE hish (SwmE) | ARB/ARER 25 O |moesmemm—masoe7 21 1 ARmAn ABA/ARER
NIt | E20LET BEENKFRT 1258820 BESME | REA/RK 2 O |roseishermbi—smie7 31 L AREAR TRBA/ARBR
NIBEEEdE | /N ITE] MIFR+FRE SRR (HCU) | BERMH | SEUEH 4 O [MI7129 AR E IR 1 BESMER
JIBEEE| /IVIE] MIFRA-FRT ARSIRAR S S 42 42|2MER—MABRR L | 1.29 0.14 0.50 3.07 0.10 6.64 41.3 2R
JIBEEEDE | /N IE] WFR+FRbR SRR SR SR 38 17 |24 — AR 1 10.00 4R
JIBEEE| /IVIE] MIFRA-FRT EREFAR S S 42 42| 2R —MABRR 1 | 0.55 0.10 0.12 1.29 3.05 0.10 0.10 9.33 38.3 2R
JIBEEEDE | /N IE] WFR+FRbR 7BERER SR SR 42 42 |2 AR ARERL 1 0.10 0.17 0.90 0.14 11.12 36.0 4R
JIBEEE| /IVIE] MIFRA-FRT OPIRAR [E1HEHA [E1EHA 42 42| PR 2 0.10 0.21 3.1 E1EHA
JNBELELE | /N IET WFR+FRbR SPEIR 12 14HA 12 14HR 42 42 |mmstnsi00 1 AREAR 0.67 1214HA
Nt | EILET BEEZEILE BENER &R &R 65 55 |t 1n 1 AREAY 18 1HEHA
JIBEEEDE | /N IE] BERUEAR) | RBE AEE—HRIR 12 14HA ARER/ARER 41 34| Hhtg— g ABTAY 3 1.35 ABA/ARER
NI | ASLLIET EFEANEERRRRTARZESIL 1588 &R &R 40 40 | FEERRARTH 1 0.75 0.05 SRR
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1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%
JBgEEde | heLLIET bt |EREABERRREIIRIEIN 25 EE1RE 12 14HR 1€ 14HR 41 41 | BERRARR 1 0.32 12 14HA
JFEEE® | ASLLET e |EEREAEERMEITRZAES) 25820 =gt 12MER 39 39 | RERR AT 1 0.03 SR
JBgEEde | heLLIET bt |EREEABERRREIIRZEIN 3SE1A 12 14HA 1€ 14HR 54 54 | BEERRABTAY 1 12 14HA
JFEEE® | ASLLET wht  |EEREAEERMEITIRAES) 3S5EE2M 12MEER 12MER 59 59| BEMRIRALTR 1 SRR
JBgEEde | heLLIET bt |EREEABESRRREITRIEIN 3SEE3ME 12 14HR 1€ 14HA 59 59 | ERIRABTAY 1 12 14HR
JFEEE® | ASLLIET wht  |EEREAEERMEITIRZAES) 5588 =gt =gt 18 18| RERIR AR 1 SR
JIBEEELE | /N IE] Wt | RIC=INVIRBT AR ElEHA EESEHR 34 20| Hhtg— A ABTAd 3 0.40 0.05 0.35 SESER
JI#gted| )1 SHET wht  |EREAECSEROR SR EHER/\EUF— S 32 iR [El{EHA [Ekek-t 58 57 VTR 1 0.02 [El{EHA
Nggted| NISE | At |EREABCSEROK ISR 2 BEAR SRR 12 60 59 RERARATAR 1 0.02 S14EHA
JI#gted| )1 SHET wht  |EREABECSEROR SR 3 PERIR 12MER 12MER 120 59| BERIRARR 1 SR
Nggted| NISE | At |EREABCSEROK ISR 4 BERAR SRR 12 60 60 | EERIRATA 1 S14EHA
NI | SRARLT | ke | SRARILERT SRR 2BERAR SUMER SUHR 23 23| 2R A BT 4 1.35 0.48 2.17 1.83 0.48 9.96 43.1 SEHA
NEELte | AL | R | ERARILERRRRE 3R SR ElEHA c 37 37 | 2R ABTR 4 0.38 0.11 0.05 8.24 21.8 EHEHA
NI | SRARLT | ke | SRARILERT SRR 4BEEIRIR SUER SUEER 58 24 | 2R A BT 4 0.08 0.08 0.63 32.4 SEHA
Nt | LT | Al | RAALERSRR 3PERRIR &R [EHEHA 38 31 [ Es PREABE 2 0.06 0.35 0.03 EI7 1]
NI | SRARLT | ke | SRARILERTRIRET 4BEEERIR 12MER 12MER 46 45 |FRERR AR 1 0.02 SRR
JIBELEde | SRANLT | RBE | SRAMLTI TR 3A SRR 2 42 42 |2 AR L | 0.31 0.07 0.21 2.67 0.90 0.07 0.67 | 12.17 | 35.1 2
N | /AR | Wb | RARLTHIZmRAR 4A SUMEER SUEER 44 44 | 2R — AR A BEAL 1 0.61 0.48 1.20 0.52 9.25 37.7 SEHA
NEted | AL | e |RARLTIZ A RRRR 5A SUEER SR 36 18 |2 — AR AT 1 4.72 37.0 4R
N | RARLT | R | EREABERERRR 2BERAR SUEER =EESMH 15 152 4HR— A ABTA) 4 2.93 1.20 3.60 8.87 54.3 |SESMH
NEted | mpLm | Ak |EREABERERRAR 3R SR SR 60 58| R EHA— AR AR 4 1.36 0.79 0.02 0.64 32.8 4R
N | RARLT | R |EREABERERRER 4BESRAR SUEER [Ekek-t c 47 45| s EIES PR 2 0.02 15.7 [El{EHA
NEted | mpLm | A |EREABERERRAR SRR SR SR 48 40 |2 R — AR ABEAL 4 0.20 54.2 4R
NI | SRARLT | ke | ABEREIRNRR — AR 12MER [Ekek-t 50 36|tk —#g A BT 3 0.39 0.56 [El{EHA
NEted | AL | b | EEELER 3PERER SUMEER B8R c 43 43 |1 asEs 7 ARERED 1 0.09 0.21 15.3 [El{EHA
N | SRARLm | b | REELRRT 4BEfRAR [Ekek-t [Ekek-t 56 56 | EHEAINL V7-5 AR 1 0.04 0.02 [El{EHA
NEted | AL | b | EEELLER 2BERER 12 14HA 12 14HR 58 55| BERIRARTAY 1 0.02 0.09 0.15 1214HA
N | REH wht BB AFRFEMIEBIRIEATR — AR SUEER EESMH 60 112 4HR— A ABEAY 4 2.09 0.09 0.73 4.64 0.91 60.3 |EEIHH
Ngted | REH whe [ IRE R URE F 4R SR SR 47 26| 2R —RAE AT 4 7.58 37.2 4R
N | REH wht (IR HRSRET F yR1R SUEER SUMEER 48 48| 2 EER— AR ABTAY 4 0.50 0.17 0.04 1.19 1.21 0.17 0.17 17.75 25.5 SEHA
Nt | REH bt |IRE RS F 1R [EHEHA [EHERA 47 47 | s EiE PR 1 3.26 2.9 EI7 1]
N | kP wht (IR HRSRET BERR =gt =gt 42 42 |FRERIR AR 2 SR
NNt | RE it | EREEAEEREERIT A7 ~S S AB A EHEHA B8R 60 59 |[EHERIINE 7-53 AR 1 0.15 [El{EHA
N | REH wht  |EREAEEREER ERRRBRARER 12MHER 12MER 52 52| BERIRARR 1 1.15 0.02 0.25 SRR
NNt | RE wh  |EREALENYF I TREKRER SEERAERAROL SUEER SUEHR 34 34 s — A A BEAY 2 0.18 11.68 4R
N | kP wht  |EFREALEEISREER FERRA2R =gt =gt 42 42 |FRERR AR 1 7.29 0.12 SR
N@tbr | #8288 | Wbt |EEREABRBRET [E3:pA SR SUEER 41 23 |2 A BT 1 3.35 29.4 2EHR
NI | 8858 | Rkt |ERE AR FAEE3ME SUEER [Ekek-t c 41 40 | 2R — AR ABEAL 1 0.03 0.25 0.20 3.35 18.0 [El1EHA
ggte| B8 | A |EREAREERR REE20 2 2 48 48| 2MEEA—ARARRRL L | 0.19 0.13 0.19 0.02 2.31 0.79 0.13 0.06 7.13 27.2 2
NI | 8858 | Rkt |ERE AR REE4ME BESMEE | SESMEE 15 14| M1y ABREEREIRR 2 2.00 0.21 0.14 0.21 0.57 0.21 3.07 2.79 0.21 45.79 EESME
ggtee| B8 | A |EREAREERR REE3M 2 E1EHA C 47 47 |2 —AEABRR 1 | 0.98 0.06 0.83 1.70 0.28 8.32 17.9 [EEHA
NI | 8858 | Rkt |ERE AR FAEE4RE =gt [Ekek-t 37 37 sasEs rmmARR 2 | 0.03 0.03 0.62 0.97 9.7 [El{EHA
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1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%
Ngted| #8285 | Ak |BUSt/ ARk BERIRL 12 14HA 1€ 14HA 45 40 | BRERBR AR 1 0.75 12 14HR
N | 8o BT | Rt (BBt a%k RERIR2 =gt =gt 45 38 |ERRALTAY 1 SR
JNBgtede| g | 2P | BHILT 4RIy SUEHR RBR/ARER 2 O [spmsimn L runmssn coxmroREL ABR/ARBR
N | T | 2EFR |(RIEBIU-y B SRMERESER SUMEER SUEER 4 4 | BRI A TR AR 2.00 SR
NNt | g | 2P |EERRSERR ElEHA ARBR/ARER 10 10 | BRZEFABTEARL ABA/ARER
JIBtEd| MM | 28 (LT =Xy NI ERE woisp (Sagmin) | RBA/ARER 10 O|BREZEFT AR AR ANBA/ARBR
NELted | NBF | 2ERT |)IE8YU=y) B8R B8R 19 19 | BRZEFABTEARL 0.05 EHEHA
N | N | AR |dBIEIYZy) SUMEER AREA/IARBR 19 19| BREEPAAITEARL ANBA/AARBR
NNt | g | 2B |EEEASVIRRIER ElEHA B8R 3 3| ERZEFTABTEAR 0.67 EHEHA
JIBtEd| JIm | 2B (BB SUMEER [Ekek-t c 19 10| BREEPAAITEAR 0.30 [El{EHA
NNt | Mg | 2P |LSEE#)Zy) SUEHR EESMH 19 19 | BRZEFABTEARL 2.11 0.11 0.05 0.63 2.53 EESME
JIBted| JIdm | 2EPr |IERRSIUZy) SUEER [Ekek-t c 4 2| BRZETABREARR 0.50 [El{EHA
NEELEd | NEm | 2EET |)WE=/=R-351T9UZy) B8R SUEER 10 2| BRZEFTABTEAR 2EHR
NIMLER| BULE | ZEFT EDERARER iR (SRR | NBA/ARER 6 0 [pmmmrunsum rorsnontay ARBA/ AR
JIBEEde| ANIIE] | PR |HPATEm AR SUEER SUEHR 18 18 | ERZEFTABTEAR 0.94 2EHR
N | SRARLT | 2P |EEERARIER SUMER SUHR 15 15| BREEPAAITEAR 1.20 SR
NELted | AR | 2EFT | R CaEiRER ElEHA ElEHA 19 18| BRZEFMAIREAR 0.06 EIEHA
N | REH | 2EFT |EREAEER/NIIERARVNER SUMEER SUEER 19 19| BREEPAAITEAR 1.11 SR
Ngted| RFEH | 2E |EREAERISINER SR RER/ARER 19 1 [ LrundRm EOARNORLLL ABR/ARBR
gL | REH | B2EFT |EREARTRSIRFE2EAR woisp (Sagmn) | RBA/ARER 1 0 [prssm crunsm coARRoR L ARBA/ARER
NEtbr | #6r B | 2EFR | KERE SR =ESEHR 19 10| BREZEFTABREAR] 0.70 1.30 0.60 EESME
gL | 8858 | 2EFRT BB BEEERDEAN [Ekek-t [Ekek-t 19 19| BRZEPAAITEARL 0.74 [El{EHA
fiizpil PR whe  |FrRmhRERE> Y- PIRRAR SR SUEER 49 38| 2R A BT 5 0.45 30.6 4R
izl PR wht  |EREAERAERRITRRER 29RHR [Ekek-t [Ekek-t 38 38 | Y5-I 2 [El{EHA
fiizpil PR wh  |EREALEHRESRAURER 1RAR 12 14HA 12MEHR 33 33 |mEEiEE 10 1 ARERR 0.91 1214HA
izl PR wht  |EREAMERAERRITRRER 3R =gt =gt 60 60 |BERR AT 1 0.50 MR
fiizpil PR wh  |EREALEHRESRAURER 4RHR 12 14HA 1€ 14HR 60 60 | FRERRABTA 1 12 14HA
izl FiR™ wht | EFREACRRFTRES BRb HEE 3MERAR 12MHER 12MER 51 49 |FRERR AR 1 0.02 SR
fiizpil PR whe  |[FPURETIREE 2A 12MEHR 12 14HA 54 54 | EERIRABTAY 2 12 14HA
izl FiR™ Jwht  |FPTREFRET 2B =gt =gt 56 56| BERIRALTRL 2 0.07 SR
fiizpil PR wht  |[FPURETIREE 3A 12MEHR 12 14HA 54 54 | EERIRABTAY 2 12 14HA
izl PR Jwht  |FPTREFRET 3B =gt =gt 56 56| BERIRALTR 2 SR
fiizpil PR wh  |EREAESREFTRE—RR AEE 2 B SR ElEHA C 40 37 | — A ABTEAY 1 0.35 0.03 4.19 3.9 [El{EHA
izl PR wht  |EFREAHESRRFTRE—R AEE 3 B SUEER [Ekek-t C 43 38| Hhigk—AE ARt 1 0.74 0.50 0.87 7.82 12.2 [El1EHA
mEp | AR bt |EEEAESREFNRE K FAEE 3 B [EHER [EHEHA 36 36 | EIEs PRRARE 1 0.03 0.08 1.4 EEHA
izl PR wht  |EFREAHESRRFTRE—R JbEE 2 f& =gt =gt 40 40 |FRERR AR 1 0.75 0.03 & 4EHR
fiizpil PR wh  |EREAESREFTRE—RR JLEE 3 B 12 14HA 1€ 14HA 40 40 | BERR AR 1 0.75 12 14HA
izl FiR™ e |EFREABRCRFUROM VIR 1 FERAR [Ekek-t [Ekek-t 32 31 M iEs PRERARE 2 0.06 4.10 [El{EHA
mab | TR whe  |EEREABCRPURO(V VAR 2BERAR EEHA EEHA 60 5O |EHEMINE 75 FHABR 1 0.02 0.19 [EEHA
izl FiR™ wht  |EFREARCRFUROM VIR 3P =gt =3t 60 60 |BRERR AT 1 0.02 0.33 & 4EHR
fiizpil PR Wt | EEEABCKAUROMY IR ABERIR 1€ 14HA 12 14HA 60 60 | FRERRARTA 1 0.70 0.02 0.20 1214HA
izl FiR™ e |EFREABRCRFUROM VIR SPERIR =gt =3t 60 60 |BRERR AT 1 0.02 0.28 & 4EHR
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1:31%
2.0 0.5 0.5 0.0 0.0 0.5 0.0 0.2 0.2 8.0 2.0 0.1 0.1 1.0 10.0
I:29%
fiizpil PR whe  |EREABCRPURO(V VAR EBERR 1€ 14HA 12 14HA 60 60 | FRERRABTA 1 0.27 =lkat
izl PR wht |t EFABERE — AR SUMEER [Ekek-t c 50 38| AR AR 4 0.97 0.82 6.71 22.4 [El{EHA
mEp | AR whe (B EAGERR s EUIES 7RER R ElEHA c 49 47 |MssiatE s PR 1 0.94 E7 1]
izl FR™ whe  |EFREAHERRT AR A3RIR SUEHR SUEER 43 43|t iEs 7 AREREIEN 1 0.05 0.05 5.42 37.7 SR
FEEp PR wh  |EREAEHERST ARG A2JRRR 12 14HA 1€ 14HR 22 22| R 1 0.09 12 14HA
izl PR whe  |EFREALHERRT AR B1ymAR =gt =gt 60 60 |BERR AT 1 1.00 0.02 SRR
FEEp PR whe  |EREAEHERSTARR B2JwIR 12 14HA 1€ 14HR 58 58| 4R BIRIRABTAL 1 0.16 12 14HA
izl PR bt |EREAEMRSFTRUNCYT 23wkt | 2BERER [Ekek-t [Ekek-t 56 56 U7-sa AR 2 [El{EHA
=il FURM bt |EEREAHEMRKRPTRUNCYT—3a mbe |NFERR [EI{EHA [El{EHA 30 30 |Emne 753 mEHRARE 4 0.03 [El1EHA
izl PR bt |EREAEMRSFTRINCYT 23wkt | 3RERAR 8 4HR 12MER 56 56| BERIRABTR 2 0.07 SRR
wEE | FER™ | Ak |(AeEREAZCKBERFTRER ARSI SRR 2 50 50| 2MERA—AEABER 1 | 0.14 0.22 0.02 0.40 0.76 0.06 9.56 35.3 SRR
izl PR wht  |HEREREAECRBRATURAER SBERIR SUEER SUMER 50 48| 2 MEER— AR ABEAL 1 1.40 0.08 0.13 1.83 0.08 12.75 53.6 SEHA
FEEp PR whe  |EREATERSFTRN\-M2Y— R BESMH | SESMH 30 30| 2R —RE AT 4 1.43 0.23 0.23 2.03 2.97 7.27 52.4 |SES4H
izl PR wht | ERE A EHRSATRA IR AEE 3 PERIR SUEER EESEER 34 34| SRR A BT 1 0.62 0.03 0.03 0.03 0.06 1.21 0.76 0.03 0.06 6.85 40.9 |=ESM4H
FEEp PR wh  |EREAEFRRSFTRP SRR AEE 4 BERIR SR SR 40 40 |2 MR — AR ABTAY 1 0.60 0.28 0.18 0.05 4.63 1.95 0.28 0.90 3.38 30.9 4R
izl PR wht  |ERE A EHRRATRA IR FAEE 3 FEYRAR SUMEER SUEER 40 40 | 2R — AR ABEAL 1 1.35 0.75 1.55 0.10 2.65 38.4 SEHA
FEEp PR whe  |EREAERRSFTRA SRR FAEE 4 BERAR SR SR 40 40 |2 —ARARERL 1 0.08 0.33 0.38 0.08 5.53 42.2 4R
izl PR wht  |ERE A EHRRATRA RS AEE 3 BESCUYRAR SUEER EESEER 6 6| S — A ABTAY 1 0.67 0.17 0.50 0.17 8.50 0.83 69.33 83.5 |EEIHH
FEEp PR fwht  |FURATPIRRE AR SR 1€ 14HA 44 34| FEERRARA 2 198.94 12 14HA
wmE | FUR™ | Ak |[PUREALRR AUEREERRO 1 SRR SE S 50 50| 2MEHI—MEARRRI L | 2.26 0.42 0.08 0.08 4.38 1.74 0.42 1.94 | 14.60 | 49.7 |=EESMH
fiizpil PR whE  |BAEEUN\EYT—>a iR 2SR B8R B8R 58 58 |EHEsIt y7-sa AR 1 [El{EHA
izl PR wht  |BREV\EUT—33 R 3PERIR [Ekek-t [Ekek-t 53 53 | EHEAINL V75 1 [El{EHA
FEEp ERBE™ fmht  |BREEFR YR ERR SR ElEHA c 60 60| Hitg— g ABTAd 3 0.20 0.02 0.23 EHEHA
izl BREETH ymht  |BREEFPIREDT E—RR SUEER TRER/ARER 39 0| st —A% ABead 3 B/ ARBR
mEEp | fBREET 1 s SUMEHEBHEERRIR00 SR ARBA/IRER 48 30|t @iEs PRBRARR 3 TRBA/ARER
izl BREETH wht  |ERE ANBHIREREEEFRRT AEE 3 BEER SUEER [Ekek-t c 34 29 |t —Ag A A 3 0.03 0.76 0.10 0.90 0.38 [El{EHA
FEEp ERBE™ whe  |EREANBHRIREEEFIRIT AREE 2 RS El{EHA ARBA/IRER 46 40 |BEIZE 0.40 TRER/ARER
izl BREETH whe  |ERE ANBHIREREEEFRRT AEE 3 BT &R ENEVEYNZS 54 52|\EEZE 0.06 0.04 RBR/IRER
FEEp ERBE™ whe  |ERENBHRIREEEFIRT FOEE 1 BE- 3% 1€ 14HA 12 14HA 120 81 |F IR BIRIRA BT 2 12 14HA
izl BREETH whe  |ERE ANBHIREREEEFRRT FAEE 2 P& =gt =gt 60 60 |HFAEBRIRA TR 1 0.03 SR
FEEp ERBE™ whe  |ERENBHRIREEEFIRIT FIEE 4 P& 12 14HA ARBA/IRER 60 60 |fREZ 0.03 TER/ARER
izl BREETH e |EREAR—REREEERIMNRRT — IR SUEER [Ekek-t c 57 57| tbigk—g A BTt 3 0.28 0.32 0.58 6.32 [El{EHA
mab | PRl bt | BRLEERRE s EUES 7RER EHEHA ARER/ARER 42 31| EIEs PR 3 ABA/ARER
izl Bl whe  |HREREAARIIREE SIEHEAAERROL 2R ENEVEYNZS 48 48 |EEIZE 12.02 REF | RBA/ARER
FEEp Bl whe  |[HEEREAARIIEER SEERAERER02 SUEHR SUEER 44 44 | 2R — AR ABTAY 4 11.09 EF 4R
izl Bl whe  |HREREAARIIREE S HABERERIR03 SUEER EESEER 48 21 |2 ME— AR 4 3.14 0.33 0.62 0.24 8.57 5.62 0.33 0.67 34.52 45.4 | SESHH
FEEp Bl whe  |[HeEREAARIIEER 2 IEEAAERIROL 12 14HA 1€ 14HA 59 59 | ERIRABTAY 1 0.07 EF 12 14HA
izl Bl whe  |EREAFESRILREET 3 PERAR [Ekek-t REB/ARER 41 13| Hhgk—Rg ABead 3 0.69 ANBA/ARBR
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FIR e | 2 |EEREAMEREALT -V SU4EHR SU4EHR 10 10| BFRESHEAT A BTE AR 0.30 SEHA
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Bzl AEA™ Wt | EREEAESREREMBENRIRT S9RAR B8R B8R 48 A48 |BHEHINE V753 RARER 3 [El{EHA
1638 Aen™ sl e A = IR 84 8 14HA 34 34 |EERFEARR 1 0.03 & 4EHA
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